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[ Using the Unit Circle Reference Angles - Guided Lesson Explanation ]

Explanation#1

The point P(7I1/6) lies in the third quadrant and has reference angle /6 As
shown

V3

Sin(%") = -sin 2= -= and cos(%”) =-0s = = —%

Sometimes , in order to find the trigonometric values of multiples of our
basic fraction of N1 we must use periodicity or the even-odd function
properties in addition to reference angles.

Explanation#2

We use the identity cos(-x) = cos(x) to write
Cos(-375°) = cos (375°)

Since 375° is greater than 360°, we find a coterminal angle t, greater than
zero and less than 360°, to 375°.

T =375-360 = 15°

Note that since 375° and angle t = 15 are coterminal, we can write
Cos (375°) = cos (15°)

= cos (15) = Pi/12

Explanation#3

sec (2 Pi / 3) has terminal side in quadrant 2 the secant is negative. Hence
Sec (2 Pi /3) = -sec(Tr)

Where Tr is the reference angle to 2 pi/3 and is given by
Tr=Pi-2Pi/ 3 =Pi/3

Hence

Sec (2Pi/3) = -sec(Pi/3) = -sqrt(1.73)
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